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rgb*3,M-Daten vom Maximalfarben M der vier Systeme: NRS00, SRS00, NRS18, SRS18

 

Natürliches Reflektiv-System: NRS00

a*r

b*r

rgb*3,M,26=(1 0 0)

rgb*3,M,92=(1 1 0)

rgb*3,M,162=(0 1 0)

rgb*3,M,217=(0 1 1)

rgb*3,M,272=(0 0 1)

rgb*3,M,329=(1 0 1)

 

rgb*3,M,52=(1 0.39 0)
0.39=(52−26)/(92−26)

   

Standard-Reflektiv-System: SRS00

a*r

b*r

rgb*3,M,30=(1 0 0)

rgb*3,M,90=(1 1 0)

rgb*3,M,150=(0 1 0)

rgb*3,M,210=(0 1 1)

rgb*3,M,270=(0 0 1)

rgb*3,M,330=(1 0 1)

 

rgb*3,M,52=(1 0.37 0)
0.37=(52−30)/(90−30)

  

 

Natürliches Reflektiv-System: NRS18

a*r

b*r

rgb*3,M,26=(1 0 0)

rgb*3,M,92=(1 1 0)

rgb*3,M,162=(0 1 0)

rgb*3,M,217=(0 1 1)

rgb*3,M,272=(0 0 1)

rgb*3,M,329=(1 0 1)

 

rgb*3,M,52=(1 0.39 0)
0.39=(52−26)/(92−26)

   

Standard-Reflektiv-System: SRS18

a*r

b*r

rgb*3,M,30=(1 0 0)

rgb*3,M,90=(1 1 0)

rgb*3,M,150=(0 1 0)

rgb*3,M,210=(0 1 1)

rgb*3,M,270=(0 0 1)

rgb*3,M,330=(1 0 1)

 

rgb*3,M,52=(1 0.37 0)
0.37=(52−30)/(90−30)

  


